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1. Which of the following are the constitutional
provisions with regard to enactment of the

budget?

1. Parliament can reduce or abolish a tax but cannot
increase it.

2. The budget shall distinguish receipts on revenue
account from other receipts.

3. No demand for a grant shall be made except on the
recommendation of the

President.

Select the correct answer using the code given below.

(@) 1and 2 only
(b) 2 and 3 only
(c) 1and 3 only
(d)1,2and 3

2. Consider the following statements regarding the
‘Council of Ministers’:

1. Ministers are not legally responsible for

any act passed by the Parliament.

2. President can remove a minister only on

the advice of the Prime Minister.

Which of the statements given above is/are correct?
(@) Lonly

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

3. Consider the following statements regarding the
Cabinet committees:

1. They are extra-constitutional innature.

2. Establishment or discontinuation. of any of cabinet
committees must be approved by the Lok Sabha.

Which of the statements given above is/are correct?
(@) Lonly

(b) 2 only

(c) Both 1 and 2

(d) Neither 1-nor 2

4. With reference to the duration of Panchayat,consider
the following statements:

1. The tenure of every Panchayat shall be for five years
from the date of its first meeting.

2. The panchayat is dissolved in accordance with the
procedure defined under the Constitution 73rd
Amendment.

3. A Panchayat reconstituted after premature
dissolution shall continue only for the remainder of the
term.

Which of the statements given above are correct?
(@) 1and 2 only

(b) 1 and 3 only

(c) 2and 3 only

(d1,2and 3

5. In the context of polity, who among the following
can be termed as the 'Permanent

Executive'?

(a) Council of Ministers

(b) Cabinet

(c) President

(d) Bureaucracy

6. The powers of the Rajya Sabha are equal to that of
the Lok Sabha for which of the following matter(s)?
1. Introduction and passage of Constitutional
Amendment Bills

2. Election of the Vice-President

3. Approval of proclamation of all three types of
emergencies

Select the correct answer using the code given below.
(@) 1 only

(b) 1 and 3 only

(c) 2 only

(d1,2and 3
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7. Which of the following statements is not correct
about Money Bill?

(@) It deals with matters of receipt of money on
account of the consoladeated fund of india.

or the custody or issue of such money.

(b) It cannot be introduced without the
recommendation of the President.

(c) Its defeat in the Lok Sabha leads to the resignation
of the government.

(d) The President is the final authority on certification
of a Bill as a Money Bill.

8. With reference to Members of the Rajya Sabha,
consider the following statements:

1. The Constitution has adopted territorial
representation for the Rajya Sabha.

2. The number of members to be elected from each
State has been fixed by the Fourth Schedule of the
Constitution of India.

3. President nominates some members from the
Anglo-Indian community if the community is not
adequately represented.

Which of the statements given above is/are correct?
(@) 1and 2 only

(b) 2 only

(c) 1and 3 only

(d)1,2and 3

9. Which of the following functional.items are placed
within the purview of panchayats asper the Xl
Schedule?

1. Rural housing

2. Vocational education

3. Public distribution system

4. Implementation of land reforms

Select the correct-answer using the code given below.
(@) 1 and 2.only

(b) 2, 3 and 4 only

() 1,2,3and 4

(d) 1 and 3 only

10. With reference to the Gram Sabha, consider the
following statements:

1. It is a body consisting of all adult residents of a
village comprised within the area of Panchayat at the
village level.

2. Its mandate and functions are decided by the
members of the Village Panchayat.

Which of the statements given above is/are correct?
(@) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

11. With reference to the appellate jurisdiction of
Supreme Court to grant Special Leave, consider the
following statements:

1. It is a discretionary power of the

Supreme Court.

2. It is applicable in all the constitutional,

civil as:well as criminal matters.

3. It can be granted against any court or

tribunal in the country.

Which of the statements given above is/are correct?
(@) 1 only

(b) 1 and 2 only

(c) 1and 3 only

(d) 2 and 3 only

12. Which of the following parties can be recognised as
a national party?

(a) A party that is recognised as a state party in three
states.

(b) A party that wins six seats in the Lok Sabha with
candidates from six different states.

(c) A party that secures six per cent of valid votes
polled in four states in the Lok Sabha election and wins
five seats in the Lok Sabha.

(d) A party that wins two seats each in four states at a
general election to the legislative assembly of those
states.
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13. With reference to Inter-State Council, consider the
following statements:

1. It is a permanent institution to effect coordination
between Centre and states.

2. It is established by President of India.

3. Being a constitutional body, its decisions are
binding in nature.

Which of the statements given above is/are correct?
(@) 1and 2 only

(b) 1 and 3 only

(c) 2 only

(d) 2 and 3 only

14. Consider the following statements regarding the
pardoning power of the President:

1. Constitution exclusively empowers the President to
grant pardons to convicted persons.

2. Pardoning power of President does not extend to
punishment by court martials.

Which of the statements given above is /are correct?
(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

15. With reference to Leader of the House, consider
the following statements:

1. The office of Leader of the House.is mentioned in
the Constitution of India.

2. Any member of the house, who.is nominated by the
Prime Minister, can act as the Leader of the House.

Which of the statements given above is/are correct?
(@) Lonly

(b) 2 only

(c) Both 1 and 2

(d) Neither1nor-2

16. In the context of Indian Parliament, a casting vote
refers to a voting power exercised by the:

(a) Vice-President during motion for impeachment of
the President.

(b) nominated members of a House in case of
Parliamentary deadlock.

(c) presiding officer of a House in case of an equality
of votes.

(d) protem Speaker during the first sitting-of the
Parliament.

17. Consider the following statements regarding the
District Planning Committee:

1. It is mandatory for every state to constitute a district
planning committee.

2. All members of a district planning committee are
elected only by the elected members of the district
panchayat and municipalities.

Which of the statements given above is/are correct?
(@) 1 only

(b) 2. only

(c)Both 1and 2

(d)-Neither 1 nor 2

18. With reference to procedure of the Supreme Court,
consider the following statements:

1. Constitutional cases are decided by a bench
consisting of three or more judges.

2. Presidential references under Article 143 are decided
by a Bench consisting of at least five judges.

Which of the statements given above is/are correct?
(@) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2
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19. With reference to the Proportional Representation
(PR) and the First Past the Post (FPTP) systems of the
elections, consider the following statements:

1. In the PR system of election, voters usually exercise
their preference for a party and not a candidate.

2. In the FPTP system of elections, every party gets
seats in the legislature in proportion to the percentage
of votes that it gets.

3. In both FPTP and PR systems, to win an election
the candidate must secure the majority of votes.

Which of the statements given above is/are correct?
(@) 1 only

(b) 2 and 3 only

(c) 1and 2 only

(d)1,2and 3

20. Consider the following statements regarding the
State Legislative Council:

1. The resolution for the creation of legislative council
must be passed by the state assembly with a special
majority.

2. Constitution of India provides power to the
Parliament to create or abolish legislative council in a
State.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

21. Which of the followingauthority/authorities has
the power to decide the‘disqualification of a member
of Parliament?

1. President of India

2. Presiding officer of the house

3. Election.Cammission of India

Select'the correct answer using the code given below.
(@2 only

(b) 2 only

(c) 1and 3 only

(d)1and 2 only

22. Consider the following statements regarding the
office of Governor:

1. The provision of appointment of Governor was
adopted from Australian Constitution.

2. In India, President appoints the Governor by warrant
under his hand and seal.

3. The appointment of one person as a Governor of two
or more states was provided under the 71"
Constitutional Amendment Act, 1956.

Which of the statements given above.is/are correct?
(@) 1and 2 only

(b) 2 and 3 only

(c) 3only

(d1,2and 3

23. Consider the following statements regarding the
impeachment.of the President:

1. Impeachment charges can be initiated in the Lok
Sabha only:

2. The nominated members of both Houses of the
Parliament cannot take part in impeachment
proceedings.

3. No President has been so far impeached from his
post.

Which of the statements given above is/are
correct:

(@) 1and 2 only

(b) 3 only

(c) 2and 3 only

(d1,2and 3

24. Consider the following statements regarding Public
Account of India:

1. It was constituted as a part of Union Budget of 1991
to mobilise resources for government spending.

2. It includes judicial deposits, savings bank deposits,
departmental deposits and remittances.

3. It is operated by executive action without
Parliamentary approval.

Which of the statements given above are correct?
(@) 1and 2 only

(b) 1 and 3 only

(c) 2and 3 only

(d)1,2and 3
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25. As per the theory of Plate tectonics, the cycle of
convection cell is responsible for the movement of the
plates. The sources of heat within the earth responsible
for this cycle of convection cells are:

1. Radioactive decay

2. Residual heat from Earth's formation

3. Solar radiation

Select the correct answer using the code given below.
(@) 2 only

(b) 1 only

(c) 1and 2 only

(d)1,2and 3

26. Which of the following soil types exhibits the
characteristic of self-ploughing?

(@) Alluvial soil

(b) Black soil

(c) Laterite soil

(d) Peaty soil

27. Consider the following pairs:
National Park State

1. Chandoli . Tamil Nadu

2. Bannerghatta : Chhattisgarh

3. Kudremukh : Karnataka

4. Nameri : Assam

Which of the pairs given above are correctly matched?
(@) 1and 2 only
(b) 2 and 3 only
(c) 3and 4 only
(d) 1 and 4 only

28. The drainage pattern of an area depends upon
which of the following factors:

1. geological time period

2. structure of rocks

3. amount of water flowing

4. periodicity of the flow

Select the correct answer using the code given below.
(@) 1, 2and 4 only

(b) 1 and 3 only

(c) 2,3 and 4 only

() 1,2,3and 4

29. With reference to the distribution of rainfall in
India, which of the following statements is/are correct?
1. The intensity and amount of rainfall in India vary
with the oscillation of the axis of the monsoon trough.
2. The rains over:North Indian plains show a declining
trend from the southeast towards the northwest.

Select the correct answer using the code given below.
(a)-2.only

(b)-2 only

(c) Both1and 2

(d) Neither 1 nor 2

30. Consider the following statements:

1. Block mountains are formed by the faulting of
earth’s crust.

2. Vosges mountains in France and Vindhya mountains
in India are examples of block mountains.

Which of the statements given above is/are correct?
(@) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2
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31. Which of the following is not a characteristic
feature of the Steppe type of Climate?

1. In the northern hemisphere, only continental
grasslands are found.

2. Regions in Southern Hemisphere experiences
precipitation all throughout the year due to maritime
influence.

3. Chinook is a hot southerly wind in Switzerland
providing relief from severe winters.

Select the correct answer using the code given below.
(@) 1and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

32. In the context of geomorphology, bars, barriers
and spits are

(a) depositional landforms formed by action of waves

and currents.

(b) erosional landforms formed by action of winds.

(c) erosional landforms formed by action of waves and
currents.

(d) depositional landforms formed by action of winds.

33. Consider the following statements regarding
Andaman and Nicobar Islands:

1. Andaman islands and Nicobar islands are separated
by the Ten degree channel.

2. These islands are an elevated portion of submarine
mountains.

3. Barren island is the only active volcano

in India situated in the Andaman and

Nicobar Islands.

Which of the statements given above are correct?
(@) 1 and 2 only

(b) 1 and 3.only

(c) 2 and-3.0only

(d)1,2and 3

34. Arrange the following in increasing order of
rainfall variation observed in India:

1. Western Ghats

2. Thar desert

3. Punjab Plains

Select the correct answer using the code given below.
(@) 2-1-3
(b) 1-3-2
(c) 2-3-1
(d) 1-2-3

35. 'October Heat', in the context of Indian climate,
refers to:

(a) heat caused due to heavy rain spells in eastern
peninsular India.

(b) warm and.humid conditions during retreating
monsoons.

(c) cloudy:skies and resulting temperature inversion in
northern plains.

(d)-increase in smog and pollution over northern India
due to stubble burning.

36. Which of the following statements best describes a
‘hydrological drought™?

(a) A prolonged period of inadequate rainfall along
with maldistribution of rainfall over time and space.
(b) Drastic reduction in the availability of water in
storages and reservoirs.

(c) Soil moisture stress causing crop failure.

(d) Decrease in productivity of the ecosystem due to a
shortage of water.
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37. Which among the following is/are the reason(s) for
debris avalanches and landslides in the Western
Ghats?

1. They are tectonically very active and made up of
unconsolidated deposits.

2. Mechanical weathering due to temperature changes
Is pronounced in this region.

3. They receive heavy amounts of rainfall over a short
period.

Select the correct answer using the code given below.
(@) 1 and 2 only

(b) 3 only

(c) 2and 3 only

(d)1,2and 3

38. With reference to the Himalayan and the
Peninsular Rivers, consider the following statements:

1. Himalayan Rivers are perennial while Peninsular
Rivers are seasonal in nature.

2. Himalayan Rivers are old and mature while
Peninsular Rivers are youthful in activity.

3. Unlike Peninsular Rivers, Himalayan Rivers show
meandering activity in the plains.

Which of the statements given above is/are correct?
(@) Lonly

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

39. Consider the following passage: “These are the
largest of all the volcanoes on the earth. These are
mostly made up of basalt and hence are not steep.
Conventionally characterized by lowexplosivity,
however, they become explosive if somehow water
gets intorthe vent.”

Which of the following type of the volcanoes is being
referred to in the above passage?

(a) Caldera

(b) Mid-ocean ridge volcanoes

(c) Shield volcanoes

(d) Composite volcanoes

40. In the context of Indian monsoons, which of the
following correctly describes 'Southern Oscillation'?

(a) Fluctuation of atmospheric pressure over the
northern and southern pacific ocean.

(b) Variations in the salinity levels between Darwin
and Tahiti.

(c) Fluctuation of atmospheric pressure over. the
tropical Indo-Pacific region.

(d) Oscillatory movement of ocean currents in the
Southern hemisphere.

41. Which of the following can induce an earthquake?
1. Sliding of tectonic plates.along a fault plane

2. The collapse of roofs of underground mines

3. Volcanic eruption

4. Tsunami

Select the correct answer using the code given below.
(@) 1, 2 and-3 only

(b) 2.and 3 only

(c)-1,2 and 4 only

(d)-1, 3and 4 only

42. Which of the following statements are correct with
reference to the sand dunes?

1. Barchans are parabolic dunes with the points or
wings directed towards the wind direction.

2. Seifs are one-winged barchans which form when
there is a shift in wind conditions.

3. Longitudinal dunes form when the supply of sand is
poor and wind direction is constant.

Select the correct answer using the code given below.
(@) 1and 2 only

(b) 2 and 3 only

(c) 1and 3 only

(d)1,2and 3
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43. Which of the following constitute(s) as direct
source(s) of information about the interior of the
Earth?

1. Volcanic eruption

2. Meteors

3. Earthquakes

Select the correct answer using the code given below.
(@) 1 only

(b) 1 and 3 only

(c) 2 only

(d1,2and 3

44. In the context of the formation of soil consider the
following statements:

1. Climatic factors influence the rate of weathering.

2. Flora, fauna, and micro-organisms affect the rate of
humus formation.

3. Parent rocks determine the texture and permeability
of soil.

Which of the statements given above is/are correct?
(@) 1 only

(b) 1 and 2 only

(c) 2and 3 only

(d)1,2and 3

45. Consider the following tributaries of river-Indus:
1. Jhelum

2. Sutlej

3. Chenab

4. Beas

Which of the following isthe correct order from south
to north of the tributaries given above?

(a) 2-3-4-1

(b) 2-4-3-1

(c) 1-3-4-2

(d) 2-4-1-3

46. Consider the following statements with reference to
the structure of the atmosphere:

1. Thickness of the troposphere is greatest at the
equator.

2. The air temperature at the tropopause over the
equator is less than that at the poles.

3. The temperature within the mesosphere increases
with the increase in altitude.

Which of the statements given above is/are correct?
(@) 1and 2 only

(b) 3 only

(c) 1 only

(d1,2and 3

47. Consider the following pairs:
Landform/Landscape Geomorphic

agent
1 Pediplain Glacier
2. Doline Groundwater
3. Peneplain Wind

Which of the pairs given above is/are correctly
matched?

(@) 1and 2 only

(b) 3 only

(c) 2 only

(d1,2and 3

48. Consider the following rivers:
1. Ganga

2. Indus

3. Godavari

4. Brahmaputra

Which of the following is the correct increasing order
of catchment area (in India) of the rivers given above?
(@) 4-3-2-1
(b) 3-4-2-1
(c) 1-2-3-4
(d) 3-2-4-1
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49. Who among the following scholars/poets belong to
Akbar's reign?

1. Naziri

2. Faizi

3. Tulsidas

Select the correct answer using the code given below.
(@) 1 and 3 only

(b) 2 only

(c) 3only

(d)1,2and 3

50. The theme of Mara-Vijaya during Buddha's
Mahaparinibbana was depicted in which of the
following caves?

(a) Ajanta caves

(b) Ellora caves

(c) Elephanta caves

(d) Nachna Kathura caves

51. Consider the following statements:

1. Satnami Revolt was an armed conflict between
Mughals and local Peasants fought in the 17th century.
2. Satnami was a religious body consisting of mostly
peasants, artisans, and low caste people.

Which of the statements given above is/are correct?
(@) Lonly

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

52. With reference to the schools of philosophy
prevalent in ancient India, consider the following
statements about Samkhya:

1. It was propounded by Charvaka.

2. It believes that real knowledge can be acquired
through observation, influence and words.

3. Elements of materialistic philosophy are found in the
Samkhya system.

Which of the statements given above.is/are correct?
(@) 1 only

(b) 2 only

(c) 2and 3 only

(d1,2and 3

53. Which of the fallowing locations is not among the
major rock edicts sites of Ashokan Inscriptions?

(a) Girnar
(b) Sopara
(c)-Sanchi
(d) Kandahar

54. Consider the following statements with reference to
Kathak dance:

1. It is a combination of music, drama and narratives.

2. It is the only form of classical dance associated with
Hindustani music.

3. It was not allowed to be performed in Mughal courts.

Which of the statements given above are correct?
(@) 1and 2 only

(b) 2 and 3 only

(c) 1and 3 only

(d1,2and 3
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55. Consider the following statements regarding
zamindars during the Mughal period:

1. The ownership of land held by zamindars was
hereditary.

2. They were the owners of all the land comprising
their zamindari.

Which of the statements given above is/are correct?
(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

56. With reference to the Vijayanagara empire,
arrange the following dynasties in the chronological
order:

1. Sangama

2. Saluvas

3. Tuluvas

4. Aravidu

Select the correct answer using the codegiven below.
(a) 1-2-3-4
(b) 1-3-4-2
(c) 2-3-1-4
(d) 4-3-2-1

57. Which of the following reasons may be attributed
to excessive cold in North India during the winter
season?

1. Continentality of the north Indian region
2. Snowfall in the Himalayan ranges

3. Cold winds coming from-the Caspian Sea
4. Early-onset of easterly jet streams

Select the correct:answer using the code given below.

(@) 1, 2 and 3 only
(b) 2 and 3.only
(c) 1, 3and 4 only
(d) 2and 4 only

58. Which of the following statements regarding
Gomateshwara statue is/are correct?

1. It is the statue of last Jain Tirthankara.

2. It is the world’s tallest monolithic freestanding
structure made of granite stone.

3. It was commissioned by Kakatiya kings of
Warangal.

Select the correct answer using the_code given below.
(@) 1and 2 only

(b) 2 only

(c) 3only

(d1,2and 3

59. Through which of the following cities would you
pass if you traversed through the ancient Indian trade
route of Uttarapatha?

1. Taxila

2. Mathura

3. Mahishmati

Select the correct answer using the code given below.
(@1,2and 3

(b) 2 and 3 only

(c)1and 2 only

(d) 1 and 3 only

60. Consider the following statements regarding the
state of Indian agriculture in sixth century BC:

1. In parts of the Ganga valley, the introduction of the
transplantation technique added to the increase in
paddy production.

2. The use of iron-tipped ploughshare led to a growth
in agricultural productivity in the entire subcontinent.

Which of the statements given above is/are correct?
(@) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2
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61. Consider the following pairs:

Folk music  State
1. Pandavani : Chattisgarh
2. Mando . Goa
3. Laman . Uttar Pradesh

Which of the pairs given above are correctly matched?
(@) 1and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

62. Which of the following reasons led to the defeat of
Rajputs by the Turks in the early medieval period?

1. Turks had superior weapons.

2. Turks had the advantage of possessing elephants.

3. Igta and Khalisa system enabled the Turks to
maintain a large standing army.

Select the correct answer using the code given below.
(@) 1 only

(b) 1 and 2 only

(c) 3 only

(d) 2 and 3 only

63. Consider the following statements regarding the
Satavahanas:

1. They ruled over central India and many parts of
northern India.

2. Satavahana rulers were identified through names
derived from that of the mother.

3. Many Satavahana rulers alsoadopted the title
devaputra, or “son of god”.

Which of the statements given above is/are correct?
(@) 1 and 3 only

(b) 2 only

(c) 2and 3 only

(d) 1,2 and3

64. Which of the following statements is not correct
regarding Brihadiswara temple?

(a) It is dedicated to Lord Shiva.

(b) It was built by Rajendra Chola.

(c) This temple was the first in India to have two large
gopuras.

(d) It has a two-storeyed sanctum for housing the main
deity of the temple.

65. This Buddhist text contains the advice given by the
Buddha to a wealthy householder'named Sigala about
how to look after one's servants.

The Buddhist text referred.to in the above passage is:
(a) Vinaya Pitaka

(b) Sutta Pitaka

(c) Abhidhamma-Pitaka

(d) Madhyamika

66. Which of the following movements/ traditions are
associated with Kuchipudi dance?

1. Balancing the feet on the rim of a brass plate
2. Dancing with a pitcher full of water on the head
3. Wearing colourful masks by the performing artists

Select the correct answer using the code given below.
(@) 1and 2 only

(b) 2 and 3 only

(c) 1and 3 only

(d1,2and 3
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67. Consider the following organizations:
1. East India Association

2. The Bombay Presidency Association
3. Poona Sarvajanik Sabha

Which of the following is the correct chronological
sequence of the formation of the above organizations?
(@) 1-3-2

(b) 3-2-1

(c) 2-1-3

(d) 3-1-2

68. With reference to Champaran Satyagraha, consider
the following statements:

1. The movement was led by Mahatma Gandhi along
with Rajendra Prasad, Narhari Parikh, and J.B
Kripalani.

2. The satyagraha ended when planters agreed to
refund all of the money they had taken illegally from
the peasants.

Which of the statements given above is/are correct?
(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

69. Consider the following statements regarding the
Nehru Report, which was an attempt by.the. Indians to
formulate constitutional reforms:

1. It was drafted jointly by Jawaharlal Nehru and
Subhash Chandra Bose.

2. The report demanded the-Dominion Status for India.
3. The report rejected the principle of the separate
communal electorate.

Which of the statements given above are correct?
(@) 1 and 2.only

(b) 2 and-3.only

(c) Land 3 only

(d)1,2and 3

70. Consider the following pairs:

Literary works  Written by

1. Amar Sonar : Rabindranath
Bangla Tagore

2. Thakurmar  : Daksinaranjan Mitra Majumdar
Jhuli

3. Sudesa . C.SubramaniyaBharathiyar
Geethangal

Which of the pairs given above is/are correctly
matched?

(@) 1 only

(b) 2 only

(c) 2and 3 only

(d1,2and 3

71. Which of the following was/were the reasons for
the Royal Indian Navy mutiny in 19467

1. Racial discrimination by British officers

2. Poor quality of food

3. Protest against the INA trial

Select the correct answer using the code below.
(@ 1 and 2 only

(b) 3 only

(c) 1 only

(d1,2and 3

72. Consider the following events:

1. First Round table conference

2. Appointment of Simon Commission
3. Poona Pact

4. Communal Award

Arrange the events given above in chronological order:
(@) 1-2-3-4
(b) 2-1-4-3
(c) 2-1-3-4
(d) 1-2-4-3
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73. On the eve of the launch of Quit India Movement,
Mahatma Gandhi gave some specific instructions to
different groups of people. With reference to these
instructions, consider the following statements:

1. He asked the government servants to resign.

2. He asked the soldiers to leave their posts.

3. He asked the princes of the Princely

states to accept the sovereignty of their own people.

Which of the above statement is/are correct?
(@) 1 and 2 only

(b) 3 only

(c) 2and 3 only

(d)1,2and 3

74. Consider the following statements regarding the
Individual Satyagraha:

1. The objective of launching the satyagraha was to
seek India's independence.

2. It was influenced by Russian nihilism.

3. Gandhiji forbade women to carry out this form of
satyagraha.

Which of the statements given above is/are correct?
(@) 2 and 3 only

(b) 1 and 2 only

(¢©)1,2and 3

(d) None

75. Which of the following measure(s) was/were
adopted by Congress ministries (1937-1939) to
alleviate the suffering of peasants?

1. Setting up of Indian Peasants’ Institute

for peasants' welfare

2. Constitution of T. Prakasam committee

to review land revenue systems

3. Introduction of Bengal Bargadars

Temporary regulation bill

Select the correct answer using the code given below.
(@) Land 2 only

(b)2 only

(c) 3 only

(d1,2and 3

76. The primary objective of the Akali movement of
1920s was to

(a) liberate Sikh gurudwaras from the control of corrupt
mahants

(b) create a separate province in region of Punjab

(c) make available modern western education to the
Sikhs

(d) counter the proselytising activities of Christian
missionaries

77. Which of the following initiatives were undertaken
by Gandhiji during his stay in ‘Africa?

1. Campaign against restriction on Indian migration.

2. Campaign against poll tax and invalidation of Indian
marriages.

3. Setting up Natal Indian Congress.

Select the correct.answer using the code given below.
(@) 1 and 2 only

(b) 2 only

(c) 1 and 3 only

(d)1,2and 3

78. The peasant movements after 1857 till the end of
the 19th century, was/were characterized by:

1. The ability of the peasants to fight directly for their
own demands.

2. Their extensive territorial reach and strong mutual
communication between the peasants.

3. An adequate understanding of colonialism and
colonial economic structure.

Select the correct answer using the code given below.
(@) 1 only

(b) 1 and 2 only

(c) 2 only

(d1,2and 3
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79. Consider the following statements regarding the
Third battle of Panipat:

1. The Marathas were supported by Rajputs and ruler
of Awadh and Punjab in this battle.

2. This battle proved to be a setback for the British
ambitions in India and a greatly strengthened the
Afghan empire in India.

Which of the statements given above is/are correct?
(@) 1 only

(b) 2 only

(c)Both1and 2

(d) Neither 1 nor 2

80. "He was the first editor of Tattwabodhini Patrika
journal. He was associated with Brahmo Samaj. He
worked for the propagation of scientific modern
outlook in the society. Instead of depending on the
scriptures, he cited medical opinion against Child
marriage. He advocated courtship before marriage,
partnership and equality as the basis of married life
and divorce by both law and custom.”

The above paragraph refers to who among the
following social reformers?

(a) Akshay Kumar Dutt

(b) Keshub Chandra Sen

(c) Debendranath Tagore

(d) Raja Rammohan Roy

81. Consider the following statements regarding

the development of railways during British rule :

1. The investment in the railways during the British
rule was primarily indigenous.

2. Government of India‘guaranteed a fixed return on

the capital invested in-railways by private enterprises.

3. Railways werebuilt to promote internal trade of
goods within India.

Which of the statements given above is/are correct?
(@) Land 2 only

(b) L and 3 only

(c) 2 only

(d1,2and 3

82. During the Civil Disobedience Movement, salt
march from Trichinopoly to Vedaranniyam on the
Tanjore coast was led by which of the following
nationalist?

(a) K. Kelappan

(b) C. Rajagopalachari
(c) Sarojini Naidu

(d) Jawaharlal Nehru

83. The role of the nationalist press.in-early 19"
century was:

1. To get a share in the lucrative printing business.
2. Political education and-mobilization of common
man.

3. To come out with sharp criticism of government
policies.

Which of the statements given above is/are correct?
(@) 1 and2only

(b) 2.and 3 only

(c)-3only

(@-1,2and 3

84. In the context of the modern history of India, the
Shore Committee was related to:

(a) Coordinate an armed invasion on British India.

(b) Fight for rights of passengers of the Komagata
Maru ship.

(c) Mediate between the Ahmedabad mill workers and
mill owners.

(d) Ascertain the import duty to be imposed

on goods imported via sea
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85. Which of the following is/are the characteristic
features of 'legal tender' in India?

1. It is a medium of payment recognized by law.

2. It has its own intrinsic value.

3. All legal tenders are issued by the Reserve Bank of
India.

Select the correct answer using the code given below.
(@) 1 only

(b) 3 only

(c) 1and 3 only

(d1,2and 3

86. With reference to Initial Public Offering (IPO),
consider the following statements:

1. It is the offering of a stock of a company for the first
time in the secondary capital market.

2. Foreign Institutional Investors are not permitted to
invest in IPOs in India through stock exchanges.

Which of the statements given above is/are correct?
(@) Lonly

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

87. What do you understand by the term transfer payment?
(a) Payment given to the importers by a domestic-firm for
the goods supplied.

(b) It is a part of profit which is not distributed among the
factors of production.

(c) It is a one-way payment to a personwho has given or
exchanged no money, good, or service for it.

(d) Payment made by the parent.company to subsidiary
companies for use of goods or services.

88. In the context of the money supply in an economy, High
Powered Money includes

(a) Interbank deposits, which a commercial bank holds in
other commercial banks.

(b) deposits held by the Government of India and
commercial banks with RBI only.

(c) only the currency circulation and the public and vault
cash of commercial banks.

(d) Both (b) and (c).

89. Which of the following curve shows that inflation and
unemployment have a stable and inverse relationship?

(@) Phillips Curve

(b) Kuznets Curve

(c) Laffer Curve

(d) Lorenz Curve

90. Which of the following actions can be taken to
combat inflationary pressures in an economy?

1. Curtailing government expenditure
2..Providing cheaper loans

3. Giving tax benefits

Select the correct answer using the code given below.
(@) 1 only

(b) 2 and 3 only

(c) 1and 3 only

(d) 1 and 2 only
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91. Which of the following industrial sectors is/are
reserved for the public sector?

1. Atomic energy generation

2. Coal-based energy generation

3. Railway transport

Select the correct answer using the code given below.
(@) 1 only

(b) 1 and 3 only

(c) 2 and 3 only

(d)1,2and 3

92. Consider the following differences between core
and headline inflation:

1. While core inflation excludes food and fuel prices,
headline inflation includes them.

2. Core inflation is relatively more volatile and
fluctuating than headline inflation.

Which of the statements given above is/are correct?
(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

93. Consider the following statements regarding tnvest
India:

1. It is the investment promotion and facilitation
agency of India.

2. It is a public entity with equal shareholdings
between the centre and state governments.

Which of the statements given above is/are correct?
(@) Lonly

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor2

94. With reference to the agriculture and the allied
sectors in India, consider the following statements:
1. Cattle account for more than fifty per cent of the
total livestock population.

2. Fish production from marine sector accounts for
more than half of the total value of fish production‘in
India.

Which of the statements given above is/are correct?
(@) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

95. "The decrease in money supply in the economy
could not control the food inflation as increase in price
was caused by skewed MSP policy, distortion caused
by APMC acts and inadequate cold storage facilities."

Which type.of inflation best describes the situation
given-above?

(a)-Stagflation

(b) Demand pull inflation
(c) Structural inflation
(d) None

96.Largest concentration of software and business
process outsourcing industry in U. P. is at

A. Lucknow
B. Kanpur

C. Noida

D. Ghaziabad

33




91. FAFafaf@a & @ et @ e a7 wrdafas a7 &
fov smfaa g/ &

1. IAT] ST ScdTee

2. TS AR Foll 3cdTgeT

3. Yo IRageT

=) feT 37T s oh1 SUATAT hieh T 3T e |
(a) Thae ¢

(b) haer ¢ 3R 3

(c) 23R 3&r

(d)1,23R3

92.
EQ¢
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HETEhITeT Y TR Tl 8
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(b) e R

(c) 1 3T 2 gt
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93. Zra¥c 34T & TaY H fAF=Ifaid S« X faarR &1
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(b) a2
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(a) Fhae ¢

(b) ShaeT R
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HH 62

(a) TEITFeILTT

(b) HiaT HETERI T Wiereh &
(c) TTATcHS FHTEhIfeT

(d) TS =TET

96. I A AiredIR 3R sTaTy Giehar AT3cAITET Jeger
oY 9T APl 2 |

A. TGAS
B. W
C. st
D.InforareTe
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97. With reference to GDP deflator, consider the
following statements:

1. It is the ratio of GDP measured at current prices to
GDP measured at constant prices.

2. It automatically reflects the changes in consumption
pattern and structural transformations in the economy.

Which of the statements given above is/are correct?
(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

98. Which of the following is an appropriate
description of disinflation?

(@) It is a slowdown in the rate of increase of the
general price level of goods and services

(b) It is a sudden fall in the value of a currency against
other currencies.

(c) Itis a persistent fall in the general price level of
goods and services.

(d) It is a steep increase in the price level of export
items.

99. Which of the following fall within the purview of
Capital account under the Balance of Payments?

1. Dividends on foreign assets which are abroad

2. Gifts from abroad

3. Foreign institutional investment

Select the correct answer using the code given below.
(@) 1 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and 3

100. Which of the following constitute a part of the
Revenue Receipts of the Government of India?

1. Interest receipts on loans by the government

2. Dividends earned by the government on investments
3. Receipts through PSU disinvestments

4. Cash grants-in-aid from foreign countries

Select the correct answer using the code given below.
(@) 1, 2and 3 only

(b) 3and 4 only

(c) 1,2 and 4 only

() 1,2,3and 4

101. National Health Authority was recently
constituted by the government with the objective of

(a) providing a district-wise mapping of incidence and
distribution of various diseases.

(b) better implementation of the recently launched
Pradhan Mantri — Jan Arogya Yojana (PM-JAY).

(c) overhauling the ecosystem of medical education in
the-country.

(d)-reducing the import dependence for fixed
combination drugs.

102. A low Biological Oxygen Demand (BOD) in

a pond would imply which of the followingsituations?
1. Greater organic material in the pond

2. Lower amount of dissolved oxygen available for
fishes.

3. High microbial population explosion.

Select the correct answer using the code given below:
(@1,2and3

(b) 1 and 2 only

(c) 3only

(d) None
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97. SIS 3raEhifa & et 7, Aeafaf@d = o iR
F:

1. I HISTeT SIFdr 9SS 1 37gard ¢ Si ek et
SIS & AT ST

2. g Fqeuaedr § @ud Yeat 3R TRaaAcHs gRad=r &
Faarford &9 & IR Hr g g

SR ETITHRUAT AT RlT AT T 8 /82
(a) Thae ¢

OEEGE

(c) 13 2=t

(d)Tar1 3R =TEr2

98. FeEATd A A laT a1 gl "1 T 3T oTeT
g2

(a) & TE3IT AR AT & AHT Hed TR I It i &7
HAAE

(b) TE 317 FT31T o HHIl FHel & Hed H 3dleTsh [TRIGE &
(c) TE TEG3T AR AaT3it & AT Fed TR H 9NN
PRmEc g

(d) e Tl aE3i & HoT TR F A8 gefa gl

99. =TI & & ahleT AT $ITCATeT HcJeleT oh T Galt Tl &
SRR H ATAT 872

1. facefy aREafaat ux amster St facei /. §

2. facer & 3uEr

3. facel wEamera faaer

ofre fET aTC 1S T 3TN FHidh HEY 3R o |
(@) hae ¢

(b)A 3

(c)38r

(d) 1,2 3R 3

100. fFAFATI @ # & Pled HRA TR & TEd TTCddr Hl Th
feeam g2

1. TR Sd@RT FOT 9T <37 e

2. foYarer o B EarT 3ToTd arsarer

3. drvwy faferder & Areas @ grica

4. facit & F1she; JieTerel Ferdr

=AY feT 7T s T IUATIT hieh HeT 3T ot |
(a) haer ¢, 31T 3

(b) 338 Er

(c) 1,2 3R 4 haar

(d) 1,2 334

101. TR EART GTT-ET H TS T FITAH0T &7 IS
ERIEIRIEI

(a) faf@esT et T gear3it 3R faaRer T Srear AT e
HET|

(b) BTeH &1 # & T TS TITeT HAY - SeT IRITG Trsfell (PM-JAY)
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(c) ¢or 7 Rafercar fretr & qIRFEufaehT JaF & 3iaeTer HT|
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102. Ueh e Sifaes iTerdTstel 1 AT (BOD) H
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1. dTeTd # 3778 & i Sifas aresft
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3. 3T ABHITaTS STATEIT [aTHIT|

oA feT 7T ls T 3TYNIT Hleh HET 3R o'
(@) 1,2 3R 3

(b) Fae ¢ 3R R
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103. Raman effect refers to:

(a) splitting of a spectrum line into several components
by the application of an electric field.

(b) change in the wavelength of light that occurs when
a light beam is deflected by molecules.

(c) scattering of Gamma rays by heavy elements.

(d) light scattering by particles in a colloid.

104. Consider the following pairs:

Issues sometimes seen in  Country
news

1. Houthi insurgency Yemen
2. Darfur crisis Sudan
3. Donbass armed conflict: ~ Ukraine

Which of the pairs given above are correctly matched?
(@) 1 and 2 only

(b) 1 and 3 only

(c) 2and 3 only

(d)1,2and 3

105. This National Park is located in the state of
Chhattisgarh. The park derives its name

from the River, which flows along the

northern boundary of the park. It was

declared a Tiger reserve under the Project
Tiger of India. The vegetation is mainly
deciduous type consisting of Sal, Teak and
bamboo trees.

The above passage describes which of the following
National park?

(a) Madhav National park

(b) Panna National park

(c) Pench National park

(d) Indravati National-park

106. The 'Country Partnership Framework' is
sometimes mentioned in the news in the
context of the affairs of

(a) UN Security Council

(b) European Union

(c) World Bank

(d) United States of America

107. Consider the following pairs of medicines and
their sources:

Medicinal Source
product

1. Quinine : Poppy plant
2. Morphine : Cinchona bark
3. Penicillin : Bacteria

Which of the pairs-given above is/are correctly
matched?

(@) 3 only

(b) 2 and3 only

(c) 1 and 2 only

(d)-None

108. In the context of modern history of India, Sargent
Plan was related to:

(a) famine policy

(b) education policy

(c) civil services reforms
(d) judicial reforms
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103. IHT JHTT Y TG o1 T &

(a) Teh el &1 o 37TV SaRT Ueh THaEH IGT &l 63
Tl 7 [qanfad Fm|
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31737t garT faife gl ¥
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(c) 23R 3¢

(d)1,23R3
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(d) HIF T AR
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109. Foreign Contribution (Regulation) Act (FCRA)
and Foreign Exchange Management Act (FEMA) are
regulated by:

(@) Ministry of Home Affairs and Ministry of Finance
respectively.

(b) Ministry of Finance and Ministry of External
Affairs respectively.

(c) Both are regulated by Ministry of Finance.

(d) Both are regulated by Reserve bank of India.

110. Recently, SWAYATT initiative was launched. It
Is related to:

(a) promoting Start-ups using GeM Portal.

(b) promoting indigenisation of defence
manufacturing.

(c) providing more autonomy to Public Sector banks.
(d) a movement to provide more autonomy to women
in the households

111. In the context of Indian economy, Ways and
Means Advances (WMA) refer to

(@) Temporary loan facility by the RBI to the centre
and state governments.

(b) Credit issued by the refinancing agencies to
entitled banks in the beginning of the financialyear.
(c) Additional sum allocation to a scheme by the
government in anticipation of increased demand.

(d) A recent mechanism to facilitate recapitalisation of
public sector banks.

112. Recently seen in news, Pokkali Paddy is a/an:

(a) High-yield variety of paddy grown near wetlands.
(b) Organic variety of paddy naturally resistant to pests
and insects.

(c) Saltwater-tolerant paddy grown in coastal areas:

(d) Invasive alien species of paddy posing threat to
local variants in the North-east.

113.Which one of the following Thermometers is
known as pyrometer?

A. Thermo-electric thermometers
B. Radiation thermometers

C. Gas thermometers

D. Liquid thermometers

114.‘Dyname’ is.a device, which converts

A. chemical energy into electrical energy
B. electrical energy into mechanical energy
C. mechanical energy into electrical energy
D.electrical energy into chemical energy
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115.The velocity of wind is measured by

A. Barometer

B. Anaemometer
C. Hydrometer
D. Wind Vane

116.The substance used as moderator and coolant
both, in nuclear reactors is

A. Ordinary water
B. Heavy water

C. Liquid Ammonia
D. Liquid Hydrogen

117.Which of the following air pollution gets dissolve
in haemoglobin of the blood more rapidly than
oxygen?

A. PAN

B. Carbon dioxide
C. Carbon monoxide
D. Ozone

118.The brain is responsible for

A. thinking

B. regulating the heartbeat
C. balancing the body

D. All of the above three

118.°Big-Bang theory’ explains the origin of

A. Mammals
B. lIce-Age
C. Universe
D. Ocean

119.Which of the following is an important'source of
Vitamin-E?

A. Palm Qil

B. Coconut oil

C. Wheat germ oil
D. Mustard oil

120.Einstein was honoured with Nobel Prize for

A. Photoelectric effect

B. Theory of.Specific Heats

C. Special Theory of Relativity
D. Bose-Einstein Statistics

121.A man, who does not know when to stop eating, is
suffering from

A. bulimia

B. diabetes

C. anorexia nervosa
D. hyperacidity
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122.Which of the following pairs is incorrectly
matched?

A. Thiamine - Beriberi

B. Ascorbic acid - Scurvy

C. Vitamin A - Colour- blindness
D. Vitamin K - Blood clotting

123.Leukaemia is a type of cancer in which there is
abnormal increase in the number of

A. bone cells

B. platelets

C. red blood cells
D. white blood cells

124. Which of the following us used in the treatment
of blood cancer?

A. lodine-131

B. Sodium-24

C. Phosphorus-32
D. Cobalt-60

125.Which among the following Panchayats, are
included in the District Plan in U. P.?

1) Nagar Panchayat

2) Gram Panchayat

3) Kshetra Panchayat

Select the correct answer from the codes given below?
Codes :

A. lonly

B. I and Il only
C. Il and Il only
D. I, Il and I all

126.Sangai festival was recently in news,
celebrated in which of the following state.
a. Manipur
b. Nagaland
c. Assam
d. Tripura

127.Recently which of the following state launched
Arundhati swaran Yojna.
a. Assam
b. Andhra Pradesh
c. Karnataka
d. West Bengal

128.Global terrorism Index published by
A. World economic forum
B. UNESCO
C. Institute for economic and peace
D.-World bank.

129.India justice report published by
NITI Aayog

Tata Trust

Law justice ministry

World bank.

o0 o

43




122. A& & & &l a1 e Tad i & Al Wiar g7

AT - S{adr
TEhiTaeh TS — Thdl
erfaa T - SraR- 3r4m9e
faeIfAsT & - Tord T Ut STHAT

a.
b.
C.
d.

123. S TATT Teh FehR 1 X § ToTaa H&d1 H AT
ECEKICIE

A. §SET T HITAHIT

B. Telceicd

C. |Tel & PITARIAT
D. Hthe T ITARIIT

124. S8 HaR S Sollol H gHA [Tl i@d & & fohderT 3TJET
fpam?

A. AL -23¢
B. @ifsT# -24
C. BREHRY -32
D. l€Tec -60

125. fFiferi@e vemardt & & siet ot # fotel Arster o
A &2

1) SR garId

2) AH G

3) 819 9argd

A T 31T FIs F FET 30X HT T FL? DIS;
A. Ddd 1

B. shadl | 3 111
C. 1 3R 1l sae
D. I, 11 3R 111 gsf

126. TIMS AER &7 &1 & TR 7 1, Aeafafaa # 3 g
TSI H HATIT I7T|

a. AR

b.#dMes

c. 3I8gH

d. g

127. gTe1 1 A To¥o=1 7 @ fohg T F 3r8ufd Faof Jrstarr &
&l

a. 3a#A

b. 3mer weer

c. Feilch

d. af¥es semer

128. afeeh HTcihaTe geehich fHad GaRT TehifRId fbar Sirar
T

a. faeq 3Ri& A
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a. NITI Aayog
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d. faea s
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130.Uighar muslim community detention camps
are recently in news is located in which of the
following country.
a. Afghanistan
b. Pakistan
c. Kazakhastan
d. China

131.‘Jing Kieng Jri’ is associated with which of
the following states.
a. Meghalaya
b. Ladakh
c. Arunachal Pradesh
d. Nagaland

132.Guru ghasidas National Park’ is located in
which of the following states.
a. Jharkhand
b. Chattisgarh
c. Madhya Pradesh
d. Uttarakhand

133.Which of the following statement is/are
correct.
1. The total fertility rate (TRF) in india has
declined below the replacement rate of 2.1
2. Teenage Birth rate in india has increased in
the last 10 years.
A. Onlyl
B. Only2
C. Both
D. None

134.0nline management monitoring of accounting

system (OMMAS) is associated with

a. Pradhan Mantri Gram Sadak Yojna
(PMGSY)

b. Mahatma Gandhi National rural
employment Guarantee Act.

c. Pradhan Mantri Fasal Bima Yojna.

d. Pradhan Mantri Jan Dhan Yojna:

135.Indian railway set up institute of financial
management in which city:
a. New Delhi
b. Hyderabad
c. Chennai
d. Bombay/Mumbai

136.Which country organized WATEC conference
a. lIsrael
b. Bharat
civUSA
d. Britain

137.Lemru elephant reserve belong to which state.
West Bengal

Madhya Pradesh

Chattisgarh

Karnataka
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d. §98/HaS

136. fordT &2 =¥ Teeh TFH ol ATANTId fohaT
a. 3o

b. IRT
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8™ National Tribal Craft Mela held in-
Hyderabad

Bhubaneshwar

New Delhi

Bhopal

138.

oo o

139.Which state give 5% reservation for
sportsperson in government jobs.
a. Bihar
b. Gujarat
c. Karnataka
d. Madhya Pradesh

140.North East Festival held in which city of uttar
Pradesh
a. Prayagraj
b. Lucknow
c. Greater Noida
d. Varanasi

141.Which state/union terriotary achieves highest
road length in country under PMGSY in
20197
a. Maharashtra
b. Gujarat
¢. Jammu and Kashmir
d. Uttar Pradesh

142 First women pilot of Indian navy to join Naval
Operation ?
a. Lieutenant Shivangi
b. Lieutenant Bhavna Kanth
c. Lieutenant Anjali Singh
d. Lieutenant Avni Chaturvedi

143.“No money for terror” organized by
a. FATF
b. Egmont Group
c. Asia Pacific Group
d. UNO

144 National Institute:of Sowa Rigpa established in
which city?
a. Shimla
b. Leh
c. Gangtok
d<. New Delhi

145.NuGen Mobility summit 2019 held in which
city
a. Manesar
b. Greater Noida
c. New Delhi
d. Gurugram
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138. 8 AT TSEIA STAATAY TAeT Al dat mafora gam 23—
a. gexEg

b. #gaiRaY

c. o3 ool

d. #grer

139. o T & THRT Al RAT 7 Qenfsai & forw 5%
3TRETOT T &

a. S8R

b. eI
C

d

. Pellcsh
. AT U

140. AT g¥¢ Ki¥ead ford TT & e H IS 3T -
a. YARRTS

b. TGS

c. I Awsr

d. aRmoTEr

141. TFE T / e TS o 2019 H PMGSY & dgd &2
H gaw 3170 g5 6T daTs ured 12

a. AgRISE

b. IeRTa

c. SFA IR FHEAR

d. 3 YU

142, QAT TATersT H AR glet aTely HRAT FAGT Hr
ggell Afgel qrgere?

a. oiftreaic framft

b. <if%esic HIGT F&

c. oiftresic 3iaifer g

d. ffFeee el aqddr

143. "31ds & fov dar g feas garu srataa fear
T
HUETH

. WA 9
. URIAT 9RIT EHE

o 0 T o

144, @rar Reqr &1 ST AT g eex & Tarfua foear
IT?

a. fR&en
b. &

c. [T
d. =18 el

145. 7T AfaferdT RITR FFAerT 2019 fod aex &
AT g3

a. HATE

b. FeX =Arvsr

c. =5 feoelr

d. Gurugram




146.Which organization related to ‘3s’ Programme
in india
a. WHO
b. NITI Aayog
c. UNDP
d. Tata Trust
147 World Energy outlook released by
a. World Economic Forum
b. International Energy Agency

c. International Atomic Energy Agency
d. World Bank

148.Which Indian Boxer elected to AIBA first
atheletes commission
a. M.C Mary Kom
b. Sarita Devi
c. Pooja Rani
d. Pinki Jangra

149.Winner of indira Gandhi peace prize for 2019-
a. David Attenborough
b. Centre for science and environment
c. ISRO
d. UNHRC

150.Which state set up Department of foreign
cooperation
a. Gujarat
b. Maharashtra
c. Rajasthan
d. Haryana




146. HRA H 35’ FIRIHH T T sl AT TS &
a. WHO

b. NITI Aayog

c. Juardr

N

d. eEreEe

147. fea Fol efcaIvT feaa gany STRY foha arr
a. fawg s ag

b. AU Foll wardT

C. JASEY TRAT Foit Totely

d. faegds

148. TIMSAT & AT hleT AT HRAT ST Tgell I gerefie
@ fag fgaa gam 8-

a. tH & AqFHA

b. #Raredr

c. Yol =i

d. Toehr SiersT

149. 2019 & Torw SfeT anel 2ifey EPR & At
a. sfasweasr

b. farireTt 3R waRor & forw &gy

c. SEI

d. UNHRC

oo

150. forg o & facely TgaeT fAstmeT fir Targ=r $r
a. ﬂGITIFr

b. HERTSE
c. TSI

d. g
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